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Solve: 2x2 —X = 6

Make the equation equal to 0, then factor the LHS.
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Solve 4x*-36=0
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Solve 2x*-50=0 oo
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Solve 5x*-35=0
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Example: Solve 1442 +28=0
-28 -28
l L’X1: —28
=14 =14
DXD: —2‘ X’L = -2
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You can't calculate the square root of a negative number.
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Example:
Solve  10x? —4x-T=4x* —11x+13

+ilx 'Plc\g a Si'de

- Yy - gy = + 1y - 13

T Tk ox-~8x +15x ~20=0
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Example: | The length of a rectangle is 5cm longert@
its Width.flf the area is equal to 150cm”, what
is the numerical value of the perimeter of

the rectangle? P
~ width: X 0 0
length: X+5 5
-(§0
Area: ’X(Y\‘\‘S) = 10em? /\'F"L m::(: ‘;
W x L > X4 5x~15p= O
Y(4S) = 150 (X +|5X>«- /03”0
X(\*S \SD = O Y+ /520 or X-10=0
W)
X2+ Sx-150<0 “u

Perzmeter = 50 cm
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Example:  In the figure, pQ divides rectangle 4BCD into

two quadrilaterals: square APQD and rectangle
PBCQ. The area of rectangle ABCD 120cm”.
In addition, mDQ :Tx)cm and mQC =(x + 8)cm-

What is the numerical area of rectangle PBCQ?
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